
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

   -2- فرض محروس في العلوم الفيزيائية              
ر. باك ع 2                           الأسدوس الأول             

  ����ي    .ع:ذ

28/12/2011  
   س2: مدة الإنجاز
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  ن1.5
  
  
  ن0.5
  
  
  ن2

  
  
  
  
  


طI-)8-�ءــــــز�ــــ�ـــ�ـــا��(  
���
� ز��ا��� ����� ا����ب �� ا���-# ���ل �3ب إ-��$�� ��01/ �$. -# ا�
$,( ا��+*%�( )�' &%�$# ا���ا"!ت  ا��

آ�ن أ;
+�C و�B &��ض ���ة ز?زل، . وا��*�د��ت ا�
�>�( ;� &$�رب ا�*+�:��� ا�������0�1 ا9-��$�( وا�وروأ�0�5(
-Oن أ�� -# ا���ر�H ا�$��N . �را وا��5 و"%M د�51960
(  -# ا���ر�H ا�:��' ا����ال ا�Gي �Fب ���
( أآ�د��

��� �050;( ا����ب ا���1ى&)
��� ����& #- Q�R& ��0B ?أن ز��ا   STا���اU%" ون�B G
�$��ح &Wر�H هGا ا����ال . �
��ط ا0Y�1%� #;���9ن
                               .0Y14ا5,( ا�

                          14ا����ط ا������ �لآر�ون: ا	ولا��زء 
#,��: 21 931.5 .u MeV c −

=  ،1,00728
p
m u=، 1,00866

n
m u=،45,49.10

e
m u−= 

14
6 ) 13,9999( C um =،12

6
( ) 11,9967m C u=،14

7 ) 13,9992( N um =  
M,�$�:       4 �� ا���&�Q ا��وري 5 6 7 8Be B C N O   

11 &�[\ ا�
��0ات)1
6C12و

6C14و
6C0نY�1ا� �*
�� �T�^�.  


^��T؟-1-1��Y �*$� ذا��   
  . )�د ;�د و����( ���01ت آ\ ���0ة-1-2

�0( �1\ �� ا�
��0&�� أو>� )2� )�R
��Y �Yا�� )B��12

6C14و
6C .؟��C����B )ل �$�ر�!" �� b�
�R& ذا��  

U�+�& 1111 ���0ة ا�0Y�1ن)3
6C��0ة ا��0ر� #,���A

Z B .ا ا��:0ل اGد�( ه��� Q0ويأآ�
  �� �0;/؟. �
14;%�� أن ا�
��0ة) 4

6Cط��
βإ���;�( ا� −.  
  . أآ�Q ���د�( ا��:0ل ا�
0وي �cGC ا�
��0ة-4-1
     . ا��:�رة "!ل هGا ا��:0ل( ا�,�MeVB أ)QR ب -4-2


�T# أوآ��R ا�0Y�1ن ا��0>0د -# ا��!ف ) 14 وا�0Y�1ن12ا�0Y�1ن(0ن &��d >��. ا�
��&�ت ا�Y�1  14ا���ر�� ���آر�ون :ا�	���ا��زءh ل!" ��
)�R� j$�&14( ;�د ا�
��0ات.ا�0iي )0N C0نY�1%�14��0ات
)j%; 12 ;�د ا� )0N C0نY�1%�12 )%�� )�Y�h ت�&��
 -# ا�

 �C&��( ة��-
14

0

12

0

12( )
( )

1,2.10N C

N C

�dB ها�.=−�& �C&0� )^:� �� �B!, #;���9ط ا��
  .0Y�1%�14نcG ا�
i��� )�R( ا�

141/2;�� ا�
*0Y�1%� Mن: ��,# 5700t ans=0نY�1%� )��01212، ا��1%( ا�� 1) 12 .(M C g mol −= )�Y�h ،
23أ-0آ�درو 16,02.10AN mol −=.  

1()��� )
��� M*
  . أ;� &���M ;�� ا�
2 (Q�1� M*
j%;: 1/2 ا��1\ ا����# أU�h أن &���� ;�� ا�

2Ln
t

λ
  .λ ا�5
���B b( ا�[��Y( ا���9;�(.=

3 (M����Y ذآ� )��� )
��ط ;��.  
2006 -# 5
( ، &Nا����F(��:��� &�ر�H )�وث ا����ال ا�Gي د�� ���
( ا���اST -# ا�$�ون ) 4G"أ  �� )�&��� )
�; 

 �C�%ا ا����ال، آ�Gأ�$�ض هm=0,10g )
����� أن ا��+���ت &
�b ;� .  &+��� -# ا���B$(0,702&�,# ، و&��� أن هcG ا���

( ا��R� \]�& %55 )$Y�R( 12آ�%( ا�0Y�1ن;%�� أن  . ا��0>0دة -# ا���
(��0�14ات ا�0Y�1ن��%� )%h��� )�&��� )
�; #- 
  .  ،)�د 5
( )�وث هGا ا����الm=0,10g و�n+� �C ا�%�1( 
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  3 /����2   ا������
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  ن0.75
  
  
  
  
  
  
  
  
  
  
  
  ن0.5
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طII-)5-�ءــــــز�ــــ�ـــ�ـــا��(  
\1�
�uc Q,B #T ا�Gي ���1 �� درا5( &���ات ا��0&�ات 1-����� ا���آ�Q ا�����i# ا���[\ -# ا�]� M]1� #50�� ��Y 

RCا���� )�?�Y  . ���F0ا�� �(WY ا����ر .��B \�iY ��%آ M]1ا�� �:�، p� Nhر>:/ ��Y ذ�o إ�j )2(أو) 1(-# ا���ا�( �
H0ار��%� !qه� أ����� )^:� �� �B!,ا� ،/���+�� �"rا .F0ا��.  

1 (/���+�� Q5�
  .;�� ا��F0. ا��
�Q5 ���%�( �:� ا��M]1، وا��F0. ا��
2 (�;�Y\1�   �%���رi، �� ه# إ��رة ا���ة 1-��د &0>�/ ا��ارة ا��:�د ;%j ا�

s��+ل ا��!"  .Gه \%�& Mا��9رة؟آ� c  
  ."!ل ا��+��ucs أو>� ا����د�( ا��+�F%�( ا��# �:$$�C ا��0&�) 3
4 (\( Q�1� #1\ ا�����): هcG ا����د�( ا��+�j%; )�%q ا� ) t

cu t Ae α−=.  
����Y�]د &���� ا��( Aو α . )�Y�]ذا &�[\ ا���αQ,$ا� #T�
]� )�R
��Y RC؟  

5( )�Rذي ا� M]1ا�� .� Qآ�� )$Y�Rا��ارة ا� #- C'=100µF�"t �+]1�   
/��5 C" )و�# ذي ا��$�و��ا \q0ا�� n+
Y u+�:و� ،R=2kΩ )آ�:��C1وا����0 ذي ا�$0ة ا�E=6V .)�%�; ��Y  

  إ�j �5( ا��M]1 ا����i�� w-�1. ا��C��+]1 ���� ب.. �� >��� ا��:� ا�p� #%1ر>�B v�. ا����ر �i�9ز ;�%�( ا��+��
C'و C". �&0ا�� �$:� uc)ا����� )B!ا��1[+�� ا�� .��i& #,Y�� ��Y  :)( ( )t

Ln u Ln Ec
τ

= − + ،Ln Nا�%�30ر�� 
)  ل#[�\ ا������ ا���2-&�[\ و�h$( ا���Y�h  RC. \1( ا���� �[
�T# ا�$,τQا�
����ي و )Ln ucا���� )�?�Y.  

5-1-)��B �<ا ا�����ن أوGCY )����5?�Y C��+]1ا�� .��i�� w-�1ا�� M]1�5( ا�� ،.  
5-2-�
   . �M]1�% ا���xف"��B b C( ا��R( ا�5
  
  

 

 



  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  3 /����3   ا������
  

  
  
  
  
  
  
  ن0.75
  
  ن0.75
  
  ن1

  
  
  ن1.5
  
  
  
  
  
  
  
  
  
  
  ن2

  
  
  
  ن1

  
  


ط7( �ءــــــ�آــ�ـــــا��(  
و&�آ��S /�i(  V=100mL c -# ا���ء ا��$,� �%:*0ل ;%j �:%0ل y�( ��  HF ا�+%0ر��ر�Q�G�mo آ�%(   درا�� ��لول ��ض ا��لور�در�ك: 	ولا��زء ا

C=10-2mol/L.  
1(QR(أ )%ا��1 )��B  m. oا�+%0ر��ر� y�:� )��0ا��1%( ا�� #,�� M=19g/mol.  
  . �. ا���ءHFذآ� �Y M����Yو���� �%:�d، واآ�Q ���د�( &+�;\  )2
3H وGC�    Cا ا��+�;\ �Y?�( ا���آ�� ا��K#�0أو>� &���� �Y�h( ا��0ازن ) 3 O +   رو��0م��C��0ت ا���ا���آ�� ا���0# 

3Hا�5
���B b(.  ا��:%0ل-# O +  .  #,��K=6,3.10-4.  

:*\ ;%j �:%0ل >M+|� S ا��:%0ل  )4- �Y�Rا� ���S' #�0ا�� cآ���& oا�+%0ر��ر� y�:� C' . س��B j,;أpH 

  .'Cا�5
�pH=2,8 . )��B bهGا ا��:%0ل ا�$��( 
�� �����ن  : ا��زء ا������� �n+� ��C ا���آ�� ا��y�:� CH3COOH #�0 اS2o�0��]�9  وy�:� HF�"t ا�+%0ر��ر���T�� ?0%:� �x:�S1 o   ���ر�� ��!� ا� �دم ا��

C0 .q0� n�$�j%; \*:
1: %�( آ\ �� ا��:���0% -
1 89 .mS mσ −


�R( �%�:%0ل=��Y S112 و 16 .mS mσ −

=  )�R
��Y
2 ��,# ا��q0%��ت ا����0( ا����0( ب. S2 �%�:%0ل 1

. .mS m mol −�
; 25°C :   
  3( ) 35H Oλ +

)3 و= ) 4,1CH COOλ −

) و= ) 5,54Fλ −

=.  

��R# ا��$�م ا�
y�( \;�+�� .Y�����Y #T�C ا�+%0ر��ر�o �. ا���ء و&+�;\ )�y ا2τ .� o�0��]�9 و����1τ ب ) 1�

1أ)QR ا�
�R(  .ا���ء

2

τ

τ
.  


�b؟)2�R& ذا��   
  


